Math 32B-2 Yeliussizov. Midterm 2

bxam time 6:06.7 %) PM, February 27, 2017
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There are 5 problems.
No books, notes, caleulators, phones, conversations, etc.
Turn off your cell phones.
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Problem 1, (

15 point
(a) (5 points) iy

Find a my
( ) (10 pomts)

Let D be the region enclosed by y =, y =37, y=1-1, y=2-3
P Flz,y) whose image F(D) is a rectangle (i.e., maps D to a rectangle)

Evaluate / j Yo + ) dzdy using change of variables from F'.
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Problem 2. (15 points) Let a,b,c be real constants. Show that dief

conservative vector field.

F x (a.b.c)) =

o if F isa
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Problem 3, (9

Poin
(2) (10 points) Evalyag )tlczgnzfelthf path C' parametrized by r(t) =
(b) (10 points) b

E
q) Valuate the vector line integral / F dr, where F = (~y,z,z).
Lﬁ‘r\.ﬁ}‘

(cos2t,sin2t t) for 0 <t <1
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%adra.nt Ol‘lent ed Let (&) be a path fme :
2, e 5 A e & _
(a) (10 points) [, COF terc 10CkW1se (2,0) to (0,1) along the ellipse 2° +4y* = 4 in the first

f(z,y) so that p — “ysing,z 4 0sz). Show that F is conservative, find a potential function
Vf ang evaluate / Fdr
(b) (10 Pomts) Let F — g

(~y,z)_ Is it conservative? Evaluate / Fdr.
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